A Algebra: Transposing equations
For the following make b the subject:

1 b+2=a 2

4 P2, 5
C

7 s=a(b-c) - 8

10 %?—2a=d _ 11

3b=a
bla+1)=d
Lib=c
2

5b

——2c=-—e
3

B Algebra: Simultaneous equations

Solve these by substitution:

1 y=2x "2 y=x+1
T x+y=9 x+2y=8
4 y=3x+1 5 y=4x-1
x+2y=9 x+y=19
Solve these by elimination:
6 x+y=4 7 x—y=3
x-y=6 x+y=1
9 2x+y=5 10 y+3x=2
x+y=3 Cy+x=4
C Indices: Dividing Index expressions
1 @+a 2 @%bt +ab?
4 6a*b +2ab 5 a?bic+2act
7 a'?b* +a8c° 8 4a%° +2ab?
10 2432 +~a'c 11 16a%b* + 8ab’
13 6a%b + 2ab? ' 14 7a%b + 8ab?
D Indices: Expanding brackets with Indices
1 (2a%)? _ 2 (5a%)?
4 (@) 5 (Bab*?
7 (Ba’bc?)? - 8 (4ab%)?
10 (5a%b)? 11 (-8ab??
13 (-24%3 " 14 (-34°b)

2 2
16 (ﬁﬁ) 17
(5

27 \2 .
19 (4“ bj 20
C

E Indices: Prime factors

Evaluate:

1 23%x32%x2
4 2x23x2?

7 $Bx52x3x%x3?
10 32x3x24%x2
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3a*b* +ab?
3a4b® + 6a3b
5a%b + 6ab®
6ab* + 4ab
5a*c = 3ac?

(6a*)?
(2a2b)?
(3abc?)?
(- 3a’h)?
(6 a2 b4)2

()
2a®

44 2
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112x 72 % 7?
73x32x 33
112x23x11
24x 23 %3 %34
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b=S4c 8 b=c-% 9 p=32_,
a 2
3(2a+d) ’ -6
=221 b=3(2c-e)12 b=
b 4 3(2¢~e) a+2c
x=3 2 x=2 3 x=<
y=6 y=3 ==3
x=1 5 x=4 6 x=5
y= 4 y= 15 y=—
x=5 ) 8 x=5 9 x=2
y=2 y=1 y=
x=-1
y=3 . 5
a* 2 ab? 3 34%% 4 383 5 ng
c
4 4,4 2
L g 8h g2 g Sa g2
2 c’ . b 6b ac
2a 353 3a 743 543
= 12 =—/— 13 22 14 14 5 29
b 2a b 8b2 3¢
4a’ 2 25¢ 3 364
a*bt 5 9a%* 6 4a'p?
27ath3c 8 64a’bsc? 9 27a%b3cS
25a*b* 11 64a%b* 12 94
—8at 14 27403 15 36a'b® -
4,2 4,2 2
ab 17 L8 g O
c 9 4a
4,2 12 10
16a2b 20 27a3 21 16a .
c 8b 25p* .
144 2 1296 3 290521
800 5 21952 6 83349
84375 . 8 9261 9 10648
864 11 50000 12 31104



